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SECTION A: (8 POINTS)
 Câu 1. - Anne: " Make yourself at home".        - John: "_______" 


A.  Yes, Can I help you?

B.  That's very kind. Thank you.          


C. Not at all. Don't mention it.
D.  Thanks! Same to you.                        


 Câu 2. My uncle ______ a very beautiful house in town last year.


A. bought
B.  buy
C. is building
D.  will buy


 Câu 3.  A.  patient 
B.  police
C.  predict

D.  attract

 Câu 4. The doctor advised him to avoid eating fatty foods, having more vegetables and drink much  water.


A. eating
B. having
C. advised him
D. much

 Câu 5. The manager had his brother ______ the report for him.


A. typed
B. to typed
C.  typing

D.  type


 Câu 6. He agreed to sign the contract _______.


A. in spite he knew much about that company       B.  although he didn't know much about that company.


C.  because he didn't know much about that company's director.   D.  so he didn't know much about that   company

 Câu 7. The number of homeless people in Nepal have increased sharply due to that severe earthquake.  


A. of
B. due to
C. severe earthquake
D. have

 Câu 8. The girls and flowers __________ he painted were vivid.


A.  that

B. whose
C.  who

D.  which


 Câu 9. Mark the letter A, B, C, or D on your answer sheet to indicate the word whose stress is placed differently from that of the others in each of the following questions.


A. difference
B. recognize
C. employee

D. primary

 Câu 10. An optimistic person always sees things on the bright sides.


A. comfortable
B. difficult
C. intelligent
D. pesimistic


 Câu 11. You can _____ the meaning of the new words in the dictionary.


A. look at
B. look for
C. look up
D. look after
 


 Câu 12. Schooling is compulsory for all Vietnamese children from the age of 6 to 14.


A. obligatory
B.  required
C. obeyed
D.  optional

 Câu 13. They are very happy because a new school for their children _____ in their village now.


A.  is building
B. is being built
C.  has been built

D.  has build

 Câu 14. Magma is the primary source of all the earth's rocks.


A.  nearest
B. first
C. cheapest

D.  worst

 Câu 15. Choose the option A, B, C or D  to indicate which of the following words has the bold, italic part pronounced differently from others


A. steals
B. stays 
C. talks 

D. tells 

 Câu 16. ______ arrived earlier, we could have finished the task.


A. If we have
B.  If we hadn't 
C. Unless we had

D. Had we

 Câu 17. I said that I had met her ______.


A. the day
B. yesterday
C. the before day
D.  the previous day


 Câu 18. The ASEAN Para-Games are hosted by the same country where the SEA Games took place.


A. defended
B. impressed
C. organized
D.  participated

 Câu 19. After having used the new technique, the factory produced ____ cars in 2014 as the year before.


A. as many twice
B. as twice many
C.  twice as many
D. twice many as


 Câu 20. No sooner _____ at the bus stop ______ the bus came.


A. he had arrived/ when
B. had he arrived/ when
C.  had he arrived/ than
D.  he had arrived/ than


 Câu 21. There were two small rooms in the beach house, _____ served as a kitchen.


A.  the smaller of them
B. the smallest of which C. the smaller of which
D. smallest of that

 Câu 22. If I _____ you, I would give Mary a lift.


A. am
B. would be
C. were

D. had been


 Câu 23. John asked me ______ interested in.


A. what kind of sports I was
B.  what kind of sports was I


C.  what kind of sports I am
D.  what kind of sports am I

 Câu 24. __________he missed the first bus, he came ten minutes late.


A. Therefore
B. Although
C. Because
D. However


 Câu 25. Books and magazines ______ around made his room very untidy. 


A.  laying
B.  which lied
C.  lying  
D. that lie


 Câu 26. Choose the option A, B, C or D  to indicate which of the following words has the bold, italic part pronounced differently from others.

A. crashed
B.  waved
C. killed
 
 
D.  cured 

 Câu 27. The organization was established in 1950 in the USA.


A. come around

B. set up
C. put on
D. made out
 

 Câu 28. The more frequently you exercise, the greatest physical endurance you will have.


A. exercise
B. will have
C. frequently

D. greatest


 Câu 29. I can _____ with most things but I cannot stand noisy children.


A. put up
B. put off
C. put on

D. put aside


 Câu 30.  ______ from outer space, our earth looks like a "blue planet"   


A.  Seeing
B.  Be seen
C.  Seen

D.  Having seen 


 Câu 31. The passengers had to wait because the plane ______ off an hour late.


A. cut
B.  took
C.  made
D.  turned

 Câu 32. Since poaching is becoming more seriously, the government has imposed stricter laws to prevent it.


A. poaching
B. seriously
C. stricter
D. it

 Câu 33. Choose the option A, B, C or D  to indicate which of the following words has the bold, italic part pronounced differently from others



A. church
B.  cheese
C. machine 
D. changeable

Câu 34. A. profits
B. interests
C. relates
D.skills
 Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the correct answer to each of the following questions.

Speech is one of the most important  (35)_______ of communicating. It consists of far more than just making noises. To talk and also to  (36)_______ by other people, we have to speak a language, that is,  we have to use combinations of  (37)_______  that everyone agrees to stand for a particular object or idea. Communication would be impossible if everyone made up their own language. Learning a language properly is very  (38)_______  . The basic (39)_______   of English is not very large, and not only about 2,000 words are needed to speak it quite  (40)_______ . But the more idea you can (41)_______ the more precise you can be about their exact meaning. Words are the  (42)_______   thing we use in communicating what we want to say. The way we  (43)_______  the words is  also very important. Our tone of voice can express many emotions and  (44)_______   whether we are  pleased or angry, for instance.

 Câu 35.  A. rules
B. reason
C. tests
   D. ways


 Câu 36.  A.  be understood
B. be talked
C. be spoken

D.  be examined


 Câu 37.  A. systems
B.  sounds
C. important

D. easy

 Câu 38.  A  simple
B  important
C  expensive
D  easy
 Câu 39.  A. vocabulary
B. structure
C. grammar

D.  word

 Câu 40.  A. fluent
B.  well
C.  perfect

D.  good

 Câu 41.  A. grow
B. express
 C. pass
    D. need

 Câu 42.  A. main
B. most
C. full
    D. certain


 Câu 43.  A. pass
B. talk
C. say

 D. send


 Câu 44.  A.  know
B.  ask
C.  show

D. understand


Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions.


After inventing dynamite, Swedish-born Alfred Nobel became a very rich man. However, he foresaw its universally destructive powers too late. Nobel preferred not to be remembered as the inventor of dynamite, so in 1895, just two weeks before his death·, he created a fund to be used for awarding prizes to people who had made worthwhile contributions to humanity. Originally there were five awards: literature, physics, chemistry, medicine, and peace. Economics was added in 1968, just sixty-seven years after the first awards ceremony. 


Nobel's original legacy of nine million dollars was invested, and the interest on this sum is used for the awards which vary from $30,000 to $125,000. 


Every year on December 10, the anniversary of Nobel's death, the awards (gold medal, illuminated diploma, and money) are presented to the winners. Sometimes politics plays an important role in the judges' decisions. Americans have won numerous science awards, but relatively few literature prizes. 

No awards were presented from 1940 to 1942 at the beginning of World War II. Some people have won two prizes, but this is rare; others have shared their prizes.

Câu 45.  The word "legacy" in the second paragraph means most nearly the same as _______.


A. bequest
B. prize
C. debt
D. legend

Câu 46. In how many fields are prizes bestowed?


A. 6
B. 5
C. 2
D. 10


Câu 47.  All of the following statements are true EXCEPT


A  ceremonies are held on December 10 to commemorate Nobel's invention



B  Politics plays an important role in selecting the winners



C  A few individuals have won two awards



D  Awards vary in monetary value

 Câu 48.   How much money did Nobel leaves for the prizes?


A   $9,000,000
B   $155,000
C  $125,000
D   $30,000


Câu 49. The Nobel prize was established in order to _________.


A  recognize worthwhile contributions to humanity
B  spend money



C  resolve political differences
D  honor the inventor of dynamite

Câu 50. In the first paragraph, "worthwhile" is closest in meaning to _________ .


A  valuable
B   trivial
C  economic
D  prestigious

Câu 51. The word "foresaw" in the first paragraph is nearest in meaning to ________. 


A  postponed
B  predicted
C  prevailed
D  prevented


Câu 52. According to the passage, Nobel's profession was in _________ .


A  literature
B  economics
C  medicine
D  science


Câu 53. What is the main idea of this passage?


A  Alfred Nobel created awards in six categories for contributions to humanity.



B  Alfred Nobel left all of his money to science.



C  Alfred Nobel became very rich when he invented dynamite



D  Alfred Nobel made a lasting contribution to humanity

Câu 54. In which area have Americans received the least awards?


A  Economics
B  Science
C  Peace
D  Literature



Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions.


An air pollutant is defined as a compound added directly or indirectly by humans to the atmosphere in such quantities as to affect humans, animals, vegetation, or materials adversely. Air pollution requires a very flexible definition that permits continuous change. When the first air pollution laws were established in England in the fourteenth century, air pollutants were limited to compounds that could be seen or smelled - a far cry from the extensive list of harmful substances known today. As technology has developed and knowledge of the health aspects of various chemicals has increased, the list of air pollutants has lengthened. In the future, even water vapor might be considered an air pollutant under certain conditions.


Many of the more important air pollutants, such as sulfur oxides, carbon monoxide, and nitrogen oxides, are found in nature. As the Earth developed, the concentration of these pollutants was altered by various chemical reactions; they became components in biogeochemical cycles. These serve as an air purification scheme by allowing the compounds to move from the air to the water or soil. On a global basis, nature's output of these compounds dwarfs that resulting from human activities.


However, human production usually occurs in a localized area, such as a city. In such a region, human output may be dominant and may temporarily overload the natural purification scheme of the cycles. The result is an increased concentration of noxious chemicals in the air. The concentrations at which the adverse effects appear will be greater than the concentrations that the pollutants would have in the absence of human activities. The actual concentration need not be large for a substance to be a pollutant; in fact, the numerical value tells us little until we know how much of an increase this represents over the concentration that would occur naturally in the area. For example, sulfur dioxide has detectable health effects at 0.08 parts per million (ppm), which is about 400 times its natural level. Carbon monoxide, however, has a natural level of 0.1 ppm and is not usually a pollutant until its level reaches about 15 ppm.

Câu 55.  It can be inferred from the first paragraph that _________.


A  water vapor is an air pollutant in localized areas



B  the definition of air pollution will continue to change



C  most air pollutants today can be seen or smelled



D  a substance becomes an air pollutant only in cities

Câu 56. Which of the following is best supported by the passage?


A  One of the most important steps in preserving natural lands is to better enforce air pollution laws.


B  Scientists should be consulted in order to establish uniform limits for all air pollutants.



C  Human activities have been effective in reducing air pollution.



D  To effectively control pollution, local government should regularly review their air pollution laws.

Câu 57. The word "detectable" in the third paragraph is closest in meaning to _________ .


A  measurable
B  beneficial
C  special
D  separable


Câu 58. The word "These" in the second paragraph is closest in meaning to _________.


A  the pollutants from the developing Earth
B  the components in biogeochemical cycles

C  the compounds moved to the water or soil
D  the various chemical reactions


Câu 59. According to the passage, the numerical value of the concentration level of a substance is only useful if _______.


A  it is in a localized area                               B. the other substances in the area are known


C  it can be calculated quickly                        D. the natural level is also known


Câu 60:  The word "localized" in the third paragraph is closest in meaning to _________.


A  specified
B  surrounded
C  encircled
D  circled.


Câu 61. According to the passage, human-generated air pollution in localized regions _______.


A   will damage areas outside of the localized regions 

          B. will react harmfully with natural pollutants


C  can overwhelm the natural system that removes pollutants 

          D. can be dwarfed by nature's output of pollutants

Câu 62. What does the passage mainly discuss?


A  The economic impact of air pollution.       B. he effects of compounds added to the atmosphere.


C  How much harm air pollutants can cause.  D. What constitutes an air pollutant.

Câu 63. For which of the following reasons can natural pollutants play an important role in controlling air pollution?


A.They occur in greater quantities than other pollutants. 

          B.  They function as part of a purification process.


          C. They are less harmful to living beings than other pollutants. 

          D. They have existed since the Earth developed.

Câu 64. The word "adversely" in the first paragraph is closest in meaning to  _________ 


A  negatively
B  admittedly
C  considerably
D  quickly

SECTION B: (2 points)
A. Rewrite the following sentences in such a way that they mean almost the same as those printed before them.

Câu 1: No one has used that door for 20 years.
That door  ____________________________________________.

Câu 2: “I am sorry I did not phone you earlier,” said John.

John apologized ________________________________________.
Câu 3: As people use a lot of wood-pulp, many trees are cut down.

→ The more ________________________________________.

Câu 4: This is the first time I have ever tasted such a delicious meal.
I have ________________________________________________.

Câu 5: If he does not obey the rules, he will be sacked soon.

Unless ________________________________________________.
B. PARAGRAPH WITING:

Write a paragraph (140 words) on the following topic: “Why do you learn English?”
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SECTION B: (2 POINTS)
A. rewrite the following sentences in such a way that they mean almost the same as those printed before them.(0,5pt)

Câu 1: No one has used that door for 20 years.
( That door  hasn’t been used for 20 years. 
Câu 2: “I am sorry I did not phone you earlier,” said John.

( John apologized for not phoning me earlier.
Câu 3: As people use a lot of wood-pulp, many trees are cut down.

→The more wood-pulp people use, the more tree are cut down.

Câu 4: This is the first time I have ever tasted such a delicious meal.
( I have not tasted such a delicious meal before.

Câu 5: If he does not obey the rules, he will be sacked soon.

( Unless he obeys the rules, he will be sacked soon.
B. PARAGRAPH WITING: (1,5pts)
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	LẦN 02


PHẦN TRẮC NGHIỆM: (8 điểm)

Mark the letter A, B, C or D on your answer sheet to indicate the correct answer to each of the following questions. 
Question 1: __________ candidates are likely to succeed in job interviews. 

A. Nervous 
B. Self-conscious
C. Self-doubt 
D. Self-confident 
Question 2: A good essay must __________contain enough interesting ideas and specific exam but also have good organization.  

A. in addition 
B. either 
C. not only
D. as well  
Question 3: Minh : " My first English test was not as good as I expected "   

                     Thomas : " _________."

A. Good Heavens!

B. Never mind , better job next time!

C. That's brilliant enough!
D. It's okay . Don't worry.

Question 4: The ground is wet. It ________ rained last night.

A. must
B. must have
C. may have
D. might have

Question 5: There are several means of mass communication. The newspaper is one. Television is ______.

A. another                B. other
C. the another
D. the other.

Question 6: Do you know the woman ______ lives next door?

A. she                       B. who                        C. whom
D. her
Question 7: If you _______ less last night, you _______ so bad today.

A. had drunk- would not have felt
B. drank- would not feel             

C. had drunk- would not feel
D. would have drunk- would not feel

Question 8: I can’t sleep ________ the hot weather.

A. because of
 B. as
C. because
D. since

Question 9: British and Australian people share the same language, but in other respects they are as different as _________.
A. cats and dogs
B. chalk and cheese
C. salt and pepper
D. here and there

Question 10: The boy was sent to the police because of several ________ that he had taken part in.

A. set-to
B. set-toes
C. sets-to
D. set-tos

Question 11: I just can't ______ that noise any longer!
A. put up with
B. stand in for
C. sit out
D. stand up to

Question 12:  ______ should a young child be allowed to play with fireworks without adult supervision

A. Under no circumstances
B. No sooner than 


C. Always

D. Only when

Question 13: Nobody phoned while I was out, ________?
A. wasn’t I 
B. was I                    
C. did they               
D. didn’t they
Question 14: The next meeting _________ in May.


A. will hold 
B. will be held 
C. will be holding  
D. will have held

Question 15: The librarian told us not _________ reference books out of the library.

      A. taking                  B. to take                
C. take                     
D. took

Question 16: John: "Congratulations! You did great. 

                     Mary:  - " ___________.”
A. It’s nice of you to say so.
B. It’s my pleasure.


C. You’re welcome.

D. That’s okay.

Question 17: My responsibility is to _________ my little brothers. 
A. take care of
B. join hands
C. take over
D. work together
Question 18: In Vietnam, two or more ________ may live in a home. 
A. generations
B. generous
 C. generation
D. generators

Question 19: _________ migrate long distances is well documented.

A. That it is birds
B. That birds
C. Birds that
D. It is that birds

Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions.

Question  20: A. Plan             B. Sing           
C. Stand
D. And
Question  21: A. Looks          B. Loves   
C. Joins  
D. Spends
Choose the word whose stress position is different from that of the others:

Question 22: A. Open 
B. Happen 

C. Offer 

D. Begin 

Question 23: A. Difficulty  
B. Simplicity  

C. Discovery  

D. Commodity   

Question 24: A. Obligatory 
B. Geographical 
C. International 
D. Undergraduate 

Mark the letter A, B, C, or D on your answer sheet to indicate the word or phrase that is CLOSEST in meaning to the underlined part in each of the following questions from 25 to 29.

Question 25: Today’s scientists have overcome many of the challenges of the depth by using more sophisticated tools.


     A. complicated     B. worldly            
C. experienced
D. aware

Question 26: We went away on holiday last week, but it rained day in day out.

A. every single day
B. every other day
C. every second day
D. every two days

Question 27: We can use either verbal or non – verbal forms of communication.


A. using gesture
B. using speech
C. using verbs

D. using facial expressions

Question 28: Each year about fifty hundred species of plants and animals are already being eliminated.


    A. dropped

B. removed
C. kicked

D. tossed

Question 29: The unmanned U.S space probe Mariner 9 sent back over 7,000 photos of Mars.

         A. circulated 

B. transmitted
C. conveyed 

D. submitted
Mark the letter A, B, C, or D on your answer sheet to show the underlined part that needs correction. 

Question 30: Several people have apparent tried to change the man’s mind, but he refuses 
                          A
                        B

            
      C
to listen.
    D
                                                                                
Question 31: The top of the mountain covered  with  snow during winter..

                            A                               B          C                D
Question 32: What I told her a few days ago were not the solutions to   most of her problems.  

                                 A                                         B                              C        D                                    
Question 33: Lake Superior, that lies on the US Canadian border, is the largest lake in North    
                                                A        B                                                           C           D

America.
Question 34: It’s not that I don’t like her, but I object to be called that by her. I am  not her 

                                  A                                                      B                   C
“buddy”, am I?


          D            
                                             

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word  or phrase that best fits each of the numbered blanks.

      It is relatively easy for computers to speak. A computer that says ‘please’ and ‘thank you’  in the right    places is (35) ___   miracle of science ,but recognizing the words that make up normal , continuous human speech is another (36) ___  

     Not until now have computer been programmed to (37) ___ to a range of spoken commands.Until recently it was thought that computers would have to be programmed to the accent and speech hahits of each user,and only then would be able to respond(38) ___to their master’s or mistress’s voice.Now rapid progress is being made (39) ______systems programmed to adapt easily to each new speaker.

     The IBM Tangora system,under development at the end of 1980s was claimed to (40) ______a spoken vocabulary of 20,000 words with 95 percent accuracy. The system includes a processor that can  make informed guesses as to(41)______is a likely sentence.That system has been programmed not only with grammatical rules,but also with an analysis of a vast quantity of office correspondence. On the(42) ______

 of this information ,the machine can calculate the probability of one particular word following another.

      Statistical probability is necessary for computers to interpret not only speech but also (43) ______data.

Security systems can distinguish between faces they have been taught to recognize,but never has a computer been able to match a human’s ability to make sense of a three-dimensional scene (44) ______identifying all objects in it.

                  (From ‘Heinle & Heinle TOEFL Test Assistant .Grammar’ by Milada Broukal)
Question 35: 
A. no

          B. not

C. nothing

D. none

Question 36: 
A. problem
          B. topic
            C. matter
            D. theme

Question 37: 
A. talk

          B. answer
C. communicate
D. react

Question 38: 
A. truly
          B. completely
C. accurately

D. right

Question 39: 
A. with
          B. for

C. within

D. as

Question 40: 
A. know
          B. recognize
C. master

D. realize

Question 41: 
A. which
          B. what

C. how

            D. that

Question 42: 
A. foundation
          B. principle       C. ground

D. basis

Question 43: 
A. visual
          B. noticeable
C. seen

            D. visible

Question 44: 
A. from
          B. by

C. of

            D. Without

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions from 55to 64.

An air pollutant is defined as a compound added directly or indirectly by humans to the atmosphere in such quantities as to affect humans, animals, vegetation, or materials adversely. Air pollution requires a very flexible definition that permits continuous change. When the first air pollution laws were established in England in the fourteenth century, air pollutants were limited to compounds that could be seen or smelled - a far cry from the extensive list of harmful substances known today. As technology has developed and knowledge of the health aspects of various chemicals has increased, the list of air pollutants has lengthened. In the future, even water vapor might be considered an air pollutant under certain conditions.

      Many of the more important air pollutants, such as sulfur oxides, carbon monoxide, and nitrogen oxides, are found in nature. As the Earth developed, the concentration of these pollutants was altered by various chemical reactions; they became components in biogeochemical cycles. These serve as an air purification scheme by allowing the compounds to move from the air to the water or soil. On a global basis, nature's output of these compounds dwarfs that resulting from human activities.

      However, human production usually occurs in a localized area, such as a city. In such a region, human output may be dominant and may temporarily overload the natural purification scheme of the cycles. The result is an increased concentration of noxious chemicals in the air. The concentrations at which the adverse effects appear will be greater than the concentrations that the pollutants would have in the absence of human activities. The actual concentration need not be large for a substance to be a pollutant; in fact, the numerical value tells us little until we know how much of an increase this represents over the concentration that would occur naturally in the area. For example, sulfur dioxide has detectable health effects at 0.08 parts per million (ppm), which is about 400 times its natural level. Carbon monoxide, however, has a natural level of 0.1 ppm and is not usually a pollutant until its level reaches about 15 ppm. 
	Question 45: What does the passage mainly discuss?

	A. The economic impact of air pollution.

B. What constitutes an air pollutant
	C. How much harm air pollutants can cause.


D.The effects of compounds added to the atmosphere 

	Question 46: The word "adversely" in the first paragraph is closest in meaning to _______.

	A. negatively
	B. quickly
	C. admittedly  
	D. considerably

	Question 47: It can be inferred from the first paragraph that _______.

A. water vapor is an air pollutant in localized areas         

B. most air pollutants today can be seen or smelled

C. the definition of air pollution will continue to change 

D. a substance becomes an air pollutant only in cities 

	Question 48:The word "These" in the second paragraph is closest in meaning to_.

	A. the various chemical reactions                                     

B. the pollutants from the developing Earth
	C. the compounds moved to the water                        

D. the components in biogeochemical cycles

	Question 49: For which of the following reasons can natural pollutants play an important role in controlling air pollution?

	A. They function as part of a purification process.     

B. They occur in greater quantities than other pollutants.

C. They are less harmful to living beings than other pollutants.              

D. They have existed since the Earth developed

	Question 50: According to the passage, human-generated air pollution in localized regions _______.

	A. can be dwarfed by nature's output of pollutants    

B. can overwhelm the natural system that removes pollutants

C. will damage areas outside of the localized regions            

D. will react harmfully with natural pollutants

	Question 51: The word "localized" in the third paragraph is closest in meaning to _______.

	A. specified    
	B. circled         
	C. surrounded   
	D. encircled

	Question 52: According to the passage, the numerical value of the concentration level of a substance is only useful if _______.

	A. the other substances in the area are known              B. it is in a localized area
	C. the natural level is also known



D. it can be calculated quickly

	Question 53: The word "detectable" in the third paragraph is closest in meaning to_________.

	A. beneficial   
	B. special
	C. measurable 

	D. separable

	Question 54:Which of the following is best supported by the passage?


A. To effectively control pollution, local government should regularly review their air pollution laws.

B. One of the most important steps in preserving natural lands is to better enforce air pollution laws.

C. Scientists should be consulted in order to establish uniform limits for all air pollutants.

D. Human activities have been effective in reducing air pollution.
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate

the correct answer to each of the questions.

 A number of factors related to the voice reveal the personality of the speaker.

The first is the broad area of communication, which includes imparting information by use of language, communicating with a group or an individual and specialized communication through performance. A person conveys thoughts and ideas through choice of words, by a tone of voice that is pleasant or unpleasant, gentle or harsh, by the rhythm that is inherent within the language itself, and by speech rhythms that are flowing and regular or uneven and hesitant, and finally, by the pitch and melody of the utterance. When speaking before a group, a person's tone may indicate uncertainty or fright, confidence or calm. At interpersonal levels, the tone may reflect ideas and feelings over and above the words chosen, or may belie them. Here the participant’s tone can consciously or unconsciously reflect intuitive sympathy or antipathy, lack of concern or interest, fatigue, anxiety, enthusiasm or excitement, all of which are usually discernible by the acute listener. Public performance is a manner of communication that is highly specialized with its own techniques for obtaining effects by voice and /or gesture. The motivation derived from the text, and in the case of singing, the music, in combination with the performer's skills, personality, and ability to create empathy will determine the success of artistic, political, or pedagogic communication.

   Second, the voice gives psychological clues to a person's self-image, perception of others, and emotional health. Self-image can be indicated by a tone of voice that is confident, pretentious, shy, aggressive, outgoing, or exuberant, to name only a few personality traits. Also the sound may give a clue to the facade or mask of that person, for example, a shy person hiding behind an overconfident front. How a speaker perceives the listener's receptiveness, interest, or sympathy in any given conversation can drastically alter the tone of presentation, by encouraging or discouraging the speaker. Emotional health is evidenced in the voice by free and melodic sounds of the happy, by constricted and harsh sound of the angry, and by dull and lethargic qualities of the depressed.

Question 55: What does the passage mainly discuss?

A. The function of the voice in performance

B. Communication styles

C. The connection between voice and personality
D. The production of speech

Question 56: What does the author mean by staring that, "At interpersonal levels, tone may reflect ideas and feelings over and above the words chosen" in lines 8- 9?

A. Feelings are expressed with different words than ideas are.

B. The tone of voice can carry information beyond the meaning of words.

C. A high tone of voice reflects an emotional communication.


D. Feelings are more difficult to express than ideas.

Question 57: The word "Here" in line 9 refers to _____ .

A. interpersonal interactions



B. the tone


C. ideas and feelings




D. words chosen

Question 58: The word "derived" in line 13 is closest in meaning to _____ .

A. discussed


B. prepared

C. registered


D. obtained

Question 59: Why does the author mention "artistic, political, or pedagogic communication" in line 14-15?

A. As examples of public performance



B. As examples of basic styles of communication

C. To contrast them to singing




D. To introduce the idea of self-image

Question 60: According to the passage, an exuberant tone of voice may be an indication of a person's ____ .

A. general physical health



B. personality



C. ability to communicate



D. vocal quality

Question 61:  According to the passage, an overconfident front may hide _____ .

A. hostility


B. shyness

C. friendliness


D. strength

Question 62: The word "drastically" in line 21 is closest in meaning to _____ .

A. frequently


B. exactly

C. severely


D. easily

Question 63: The word "evidenced" in line 22 is closest in meaning to _____ .

A. questioned





B. repeated



C. indicated





D. exaggerated

Question 64: According to the passage, what does a constricted and harsh voice indicate?

A. lethargy


B. depression

C. boredom


D. anger
PHẦN TỰ LUẬN: (2 điểm)
WRITING:

Part I. Finish each of the following sentences in such a way that it means the same as the sentence printed before it.

Question 65: It is said that the boy stole his grandmother’s money.

      > The boy……………………………………………………………………………………
Question 66: He started teaching English for this school six years ago.

      > He has……………………………………………………………………………………
Question 67: Nobody in my village is taller than Mike.

      > Mike………………………………………………………………………………………
Question 68: The coffee was very hot. We couldn’t drink it.

     > The coffee was so……………………………………………………………………………
Question 69: But for your money, I couldn’t have bought the new house.

> Without………………………………………………………………………………………
Part II. In about 140 words, write a paragraph about “Why is it important to learn English?”
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Choose the word whose stress pattern is different from that of the others.

 Question  1. A. climatic
B. collective
C. abundant
D. regional

 Question  2. A. consequence  B. museum
C. influence
D. hurricane

 Question  3. A. secretary
B. agriculture
C. electronic
D. temporary

 Choose the best option to complete each of the following sentences

 Question  4. They had ______ that all of them laughed with joy


A. so an interesting game
B. such an interesting game



C. so a game interesting

D. a game such interesting

 Question  5. ______ your jacket if you don't want to get cold.


A. Set aside
B. Put on
C. Keep on
D. Take off

 Question  6.  He has not been offered the job because he cannot meet the _______ of the company.


A. applicants 
B. information
C. requirements 
D. education

 Question  7. I can't help you any more because I myself have so many problems to ______


A. keep up with
B. put up with
C. deal with
D. get on with

 Question  8.  Harry:" _______"     Kate: "Yes. I'd like to buy a computer."


A. Good morning. Can I help you?
B. Can you help me buy something? 


C. Excuse me. Do you want to buy it?
D. Do you look for something?
 

 Question  9. ____ Long ______  his brother was at the party last night. They were both busy.


A. Neither/ or
B. Either/ or
C. Both/ and
D. Neither/ nor

 Question  10. Due to severe weather condition, we had to wait long hours ______ the airport


A. in
B. from
C. at
D. on

 Question  11.  Unlike football, a water polo game is ___ into quarters.


A. played
B. Divided
C. Separated
D. cut


 Question  12. All the victims were made _ their mobile phones, so nobody could ask for help.


A. handing in
B. that hand in
C. to hand in
D. hand in

 Question  13. I have asked my boss ______ me one day off to see the doctor.


A. to give 
B. giving
C. that he give
D. if could he give

 Question  14. Benald wanted to know ______ 


A. where I had been those days
B. where had I been those days


C. where I had been those day
D. where I have been those days

 Question  15.   She sent me a _______ letter thanking me for my invitation.


A.  polite 
B.  politeness 
C.  politely 
D. impoliteness 

 Question  16.   Miss White sang very ______ at my birthday party last night. 


A.  Beautifully
B.  Beautify
C.  beauty
D.  Beautiful

 Question  17. ¼ of my income ______ to pay for my university debts.


A. has been used
B. has used
C. were used
D. are used

 Question  18. She won't stop crying unless you ______ away.


A. had gone
B. go
C. don't go
D. went

Question  19.  Tom:" Would you take this along to the office for me?"    Jerry:" _____ "


A. Yes, with pleasure
B. Never mind
C. Not at all
D. Yes, that's righ

 Question  20. ______ that you were invited, would you come?


A. In case
B. Unless
C. Provided that
D. Since

 Question  21.  Without ___ all the resources necessary for life would be damaged, wasted or destroyed.


A. destruction
B. Conversation
C. Extinction
D. Biodiversity

 Question  22. ______ Rocky Mountains stretch more than 3000 miles from British Columbia, Canada to New Mexico, America.


A. A
B. The
C. An
D. Ø

 Question  23.   Despite many recent _______ advances, there are parts where schools are not equipped with computers.


A. technologist
B.  technological   
C.  technologically 
D.  technology   

 Question  24. ______ Do you prepare all these things for? _ To be ready for earthquakes.


A. Why
B. Who
C. How
D. What

 Question  25.  The International Committee Red Cross has about 12,000 staff members worldwide, about 800 of them working in its Geneva _______.


A. buildings
B. factories 
C. headquarters 
D. companies 

 Question  26. This machine can perform a variety of tasks. ______ , it is very economic.


A. Moreover
B. However
C. On the contrary
D. Beside

 Question  27. The United Kingdom consists ______ 4 countries, England, Wales, Scotland and Northern Ireland.


A. to
B. of
C. in
D. with

 Question  28. The lecturer's speech ______ for the majority of the listeners to get what he meant


A. wasn't clear enough

B. wasn't enough clear


C. was too clearly

D. wasn't so clear

 Question  29.  Anne: "Thanks for the nice gift!" John: "______" 


A. In fact, I myself don't like it.
B. I'm glad you like it.         


C. But do you know how much it costs?
D. You're welcomed.

 Question  30. Yesterday evening I ______ a terrible accident.


A. witnessed
B. have witnessed
C. had witnessed
D. witness

Choose the word or phrase that is OPPOSITE in meaning to the underlined part in each of the following questions.

 Question  31.   Their classmates are writing letters of acceptance.


A. confirmation
B. agree
C. refusal 
D. admission 

 Question  32.   She decided to remain celibate and devote her life to helping the homeless and orphans.


A. divorced
B. single
C. separated
D. married 

 Question  33.  She performed all her duties conscientiously. She didn't give enough care to her work


A. insensitively
B. irresponsibly 
C. liberally
D. responsibly

 Choose the word whose underlined part is pronounced differently from the others

 Question  34.   A. orphaned B. endangered
C. established
D. recognized
 Question  35.   A. rose
B. remote
C. postcard
D. toddle 

 Question  36.   A. measure
B. decision
C. comprehension
D. pleasure

Read the passage and choose the best option to complete each of the blanks.

PROBLEMS OF WATCHING TELEVISION IN BRITAIN

British parents are always complaining that their children spend too much time gluing to the telly and not enough (37)____ other activities like sports and reading. A survey recently carried out on people's viewing habits  (38)____ not disapprove it. It shows that young people in Britain spend on  (39)___ twenty three hours a week in front of the television,  (40)_______ works out at over three hours every day.

What is surprising, however, is the fact that the average adult watches even more: an incredible 28 hours a week. We seem to have become a nation of telly addicts. Just about  (41)_______ household in the country has a television and over half have two or more. 

According  (42)___ the survey, people nowadays don't just watch television sitting in their living room, they watch it in the kitchen and in bed as well.

The Education Minister said a  (43)___weeks ago that Britain's pupils should spend more time reading. Unfortunately, parents are not setting a good example: adults do  (44)__ reading than young people. In fact, reading is  (45)___ the bottom of their list of favorite pastimes. They would (46)____ listen to the radio, go to the cinema or hire a video to watch on their television at home.

 Question  37.   A. in
B. For
C. at  
D. on 

 Question  38.   A.  is 
B. has
C. do 
D. does   

 Question  39.   A. weekend  
B. Sunday  
C. average
D. time  

 Question  40.   A. where
B. who 
C. what  
D. which  

 Question  41.   A. every  
B. none  
C. neither  
D. all

 Question  42.   A. to  
B. on
C. for   
D. with 

 Question  43.   A. few  
B. little  
C. lot  
D. number  

 Question  44.   A. most
B. better   
C. more  
D. less. 

 Question  45.   A. at  
B. to
C. on  
D. in

 Question  46.   A. rather 
B. like  
C. had better  
D. prefer  

 Read the passage and choose the best option for each sentence.
In the United States, presidential elections are held in years evenly divisible by four (1888, 1900, 1964, etc.). Since 1840, American presidents elected in years ending with zero have died in office, with one exception. William H. Harrison, the man who served the shortest term, died of pneumonia only several weeks after his inauguration. 

Abraham Lincoln was one of four presidents who were assassinated. He was elected in 1860, and his untimely death came just five years later. James A. Garfield, a former Union army general from Ohio, was shot during his first year in office (1881) by a man to whom he wouldn't give a job. While in his second term of office (1901), William McKinley, another Ohioan, attended the Pan-American Exposition in Buffalo, New York. During the reception, he was assassinated while shaking hands with some of the guests. John F. Kennedy was assassinated in 1963 in Dallas only three years after his election. 

Three years after his election in 1920, Warren G, Harding died in office. Although it was never proved, many believe he was poisoned. Franklin D. Roosevelt was elected four times (1932, 1936, 1940 and 1944), the only man to serve so long a term. He had contracted polio in 1921 and eventually died of the illness in 1945. 

Ronald Reagan, who was elected in 1980 and reelected four years later, suffered an assassination attempt but did not succumb to the assassin's bullets. He was the first to break the long chain of unfortunate events. Will the candidate in the election of 2020 also be as lucky? 

Question  47.  All of the following were election years EXCEPT _______


A. 1888 
B. 1860 
C. 1963
D. 1960 

 Question  48.  Which president served the shortest term in office? 


A. Abraham Lincoln 

B. Warren G. Harding
 

      C. William H. Harrison 

D. William McKinley  

 Question  49.  Which of the following is true? 


A. Only presidents from Ohio have died in office. 


B. All presidents elected in years ending in zero have died in office. 


C. Franklin D. Roosevelt completed four terms as president. 


D. Four American presidents have been assassinated. 

 Question  50.  How many presidents elected in years ending in zero since 1840 have died in office? 


A. 5
B. 7 
C. 4 
D. 3 

 Question  51.The word "inauguration" in the first paragraph means most nearly the same as


A. campaign 
B. election   C. acceptance speech    D. swearing-in ceremony 

 Question  52.  All of the following presidents were assassinated EXCEPT _______


A. Abraham Lincoln 

B. Franklin D. Roosevelt

      C. James A. Garfield 

D. John F. Kennedy 

 Question  53.  The word "assassinated" in the second paragraph is closest in meaning to ____


A. sickened
B. honored 
C. decorated 
D. murdered 

 Question  54.   The word "whom" in the second paragraph refers to _______


A. Garfield   B. a Union army general    C. McKinley    D. Garfield's assassin 

 Question  55.  In the third paragraph, "contracted" is closest in meaning to _______


A. notified     B. agree about      C. developed 
     D. communicated about 

 Question  56.   How long did Warren G, Harding work as a president? 


A. 4 years 
B. 3 months 
C. 2 years 
D. 3 years 

 Choose the option which is CLOSEST in meaning with the underlined one.

 Question  57.  If petrol price go up any more, I shall have to use a bicycle.


A. ascend
B. develop
C. increase
D. raise


 Question  58.   There were so many members of the political party who had gone against the leader that he resigned. 


A. invited
B. opposed
C. insisted
D. apposed         

 Question  59.  I didn't go to work this morning . I stayed at home because of the morning rain.
A. on account of    
B. in addition to 
C. in spite of
D. thanks to 

 Choose the word or phrase that needs correction.

 Question  60.  In this hospital they have the best staff and equipments in the whole province. It's really high standard.


A. whole
B. in
C. high
D. equipments

 Question  61.  Daisy has such many things to do that she has no time to go out.


A. has
B. to do
C. to go
D. such

 Question  62.  Heathrow is a very busy airport. You can always see aeroplanes landing and take off.



A. see
B. a
C. busy
D. take off

 Question  63.  It is believed that in the near future robots will be used to doing things such as  cooking.


A. such as
B. in the near future
C. it is believed
D. be used to doing

 Question  64.  My father used to giving me some good advice whenever I had a problem.


A. problem
B. giving
C. whenever
D. some good advice

WRITING     

Part I. Rewrite the sentences with beginnings given so that they stay the same in meaning.

Question 65: Peter spent a lot of money on video games

( A lot of money ____________________________________________________________
Question 66: The dish was so hot, so we couldn’t eat.

( If _______________________________________________________________________
Question 67: Flora didn’t know about the news about her parents until she heard it on TV

( It was not until _____________________________________________________________
Question 68: Charles was looking forward to the meeting and so was I.

( Both _____________________________________________________________________
Question 69: Hugo said to me “I don’t have anything to tell you”

( Hugo said that _____________________________________________________________

Part II. Write a paragraph of about 120 words describing the place where you are studying.
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WRITING  

Part I. Rewrite the sentences with beginnings given so that they stay the same in meaning. (0.1pts for each correct answer)

Question 65: A lot of money was spent on video games by Peter.

Question 66: If the dish hadn’t been so hot, we could have eaten.

Question 67: It was not until she heard it on TV that Flora knew about the news about her parents.

Question 68: Both Charles and I were looking forward to the meeting.

Question 69: Hugo said that he didn’t have anything to tell.

Part II. Write a paragraph of about 120 words describing the place where you are studying. (1.5pts)
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